Sections 5.2, 5.3 and 5.4

I- Find the exact value of each expression
37 T s 5z . 3z T 5z
1) 6cos — + 2tan(—— 2) sec(— =) —cot(——) 3) cos(—x)—-sin(——) 4) 2cot(——) +cos(——
) 1 (3))(3) (4))(7r) (2)) (6) (6)

. 4z 11z 57 11r 27 1 V4 . I
5) sin ——2tan — 6) cot — +sec(———) 7) csc (———)+cos(—) 8) cot(——)—sin(——
)3 5 )4(6))(3) (6))(2)(2)
H o 2 0 i 1)
sins0” 1 10) sin 200° sec(—70°) 11) cot 200° cot(—70°) 12) 2n-20°sin70
cos 40°  cot“(-407) sec20°
13) 1+tan? 5° —csc® 85° 14) tan 350° cot10°  15) ;—CSCBS" sec52’
cos38° csc52°
16) _C(OS—;OOO)Jrcot 140° 17) sec 35° csc 55” —tan 357 cot 55°  18) sin 160° cos 70? —cos 207 sin 290°
sin(—

19) tan(-120?) —sin(-210°) 20) 4csc(—5?”)—3tan(—%r) 21) cot%z+cos(—2?ﬂ) 22) 3005%—cot%

sin2 % _cos ™~ 2(sin2z)—0032% ZsinA':;[—tanlgZ cscgf—cotzr

23) — 24) p- 25) 3 26) - 5
cos tan— 2cos(—z) —sin(——) sin(——) —sec—

3 2 2 4

- Answer true or false
1) sin 270° +cos(-180°) =0 2) sin(-z)=-1 3) tan(—%z) is undefined 4) cos(—-3607?) —sin(-90?) = 2

27 V4 . br ., T 57 V4 1 57z
5) cos(?) = cos(—g) 6) sm(?) = sm(—g) 7) tan(?) = cot(—g) 8) csc(—?) = sec(?)
3 . I 67 V4 o T T o o
9) cos(—T) = sm(T) 10) 005(7) = cos(—7) 11) tan(?) = COt(E_g) 12) cot 270° +cos0° =0
13) cot(—~) is undefined 14) csc(-270°) +sec(~180°) =0 15) sec(%)-sin(%”):l 16) sin(n—%):sin(%)

17) tan(360° —30°) = —tan30° 18) cos(% —27) = —cO0s % 19) sin(% —27) =sin % 20) cos (-57) = -1

I11-  Find the exact values of each of the remaining Trig. functions given

1)sec0:—% ,tanfd <0 2) cscd=—-4 ,7r<6’<37” 3)sin¢9:—% ,C0s0 >0

4) cotezg ,secd <0

IV- 1) If secd=3,find a)cosd , b)tan’6 , c) csc(90° —6) , d)sin?4
2) If cot@=2 ,find a) tand , b) csc’d , c) tan(90° —0) , d) sec’d
3) If sind=0.3, find cscd+cos(90° — @) +sin(3607 — )
4) If cos@=0.2 , find cos(-0)+cos(2z —8)+cos(rz + 6) +cos(3z —6)

5 If cotd=-2 , find cot(-8)+cot(@ — )+ cot(2z — ) + tan(6 — %)



V-  Evaluate the following :
11z . T . o, TT
1) tan®(—=—=) —sin*(——=) —sin’(=
) tan”( : ) ( 18) (9)
27

5r 5x
csc?(—==) + tan? (=) — csc? (——
2) ( 3 ) (18) ( 9 )

137 81 5x
sec?(——2) —tan?(——) — cot? (—==
3) ( - ) ( - ) ( 6)
S5r 5x i 27
cos%(——=) —csc? (—==) +sin?(——=
1) ( 3) ( 4) ( 2 )
5) csc(—léﬂ) + cos(—%) —sec(—37)
5x T 1
6) tan(——)—sec(—=) —cos(——
) ( 6) ( 6) ( > )

7) sec(— 2?7[) + cot(— %) - sin(%)

vl) Evaluate the following expressions using Trig. Identities, assuming that 0< @ <

1) If X =§sin 0 , find
2 9—4x°

Jxi—a’
X

2) If Xx=asecd , find

3) If X =~/2¢0t8 , find

X
V2 + X2



VII)

2
1) 1f p(X, —?) is on the unit circle such that X > 0, find COt& where P is on the terminal side

of the angle of @ radians.

5
2) If p(—?, Y) is on the unit circle such that Y <0, find CSCE where P is on the terminal
side of the angle of & radians.

2
3) If cscd =——~=, find all possible values for & for 0< 0 < 2x

J3

1
4) If tan@ = ﬁ find all possible values for @ for 0< 0 < 27

5) If cosd =0, find all possible values for @ for 0< 0 <27
6) If cotd is undefined , find all possible values for & for 0< @ <27

1
7) If cos@ = Y find all possible values for 8 for 27 <0< -7

1 3
8) If tan@d = ———, find all possible values for @ for —77[ <0<0

V3

9) If cotd =0, find all possible values for & for —27 <60 < —%
10)If csc@ is undefined, find all possible values for & for -2z < 6 S%

/4
11) Find_the y coordinate of P(X, Y) on the unit circle and on the terminal side of the angle —?

57

12) Find_the x coordinate of p(X, y) on the unit circle and on the terminal side of the angle ———

2 5
13) Suppose that the terminal point determined by @, is the point (f,E)

29

on the unit circle. Find the terminal point determined by 57+ 6.

2 5
14) Suppose that the terminal point determined by @, is the point (T T)

29 '/29

on the unit circle. Find the terminal point determined by —@ — 77 .



3 5
15) Suppose that the terminal point determined by 77 — &, is the point (_E’ﬁ)

on the unit circle. Find the terminal point determined by 87— 6.
16) If @ is an acute angle and the terminal side is determined by @, then the terminal side determined
by 37— will bein quadrant.

17) If @ is an acute angle and the terminal side is determined by &, then the terminal side determined

117 _ :
by 7+6’ will be in quadrant.



